Vestil Manufacturing Corporation
2999 North Wayne St., Angola, IN 46703
Ph: 260-665-7586 Fax: 260-665-1339
sales@vestil.com « www.vestil.com

Ergonomic Solutions

Revised 0706 28-126-

101

A company dedicated to solving ergonomic and material

handling problems since 1955.

OWNER'S
MANUAL

STEEL GANTRY CRANES « MODEL AHS, FHS
ALUMINUM GANTRY CRANES « MODEL AHA

(Contents Inspection INStructions ..............cooee e 4
Safety Precautions ..........ccccevvvvviiiiiiiininnnennn. 1 Testing INStructions ..........ccccvvvvvvvviiiiieeeeeeeee. 5
Receiving INStructions ..........ccccceeevviveiiinnnnnnn. 1 Parts List/Drawing (AHS series) .................... 6
WaAITANLY ..o 1 Parts List/Drawing (AHA 2K Capacity) .......... 7
Assembly Instructions ...........cccceeeiiiiiiiiiinnnins 2 Parts List/Drawing (AHA 4K Capacity) .......... 8

\Height Adjustment ..........ooeiiiiiieiein 3 Warning Label Identification .......................... 9

SAFETY PRECAUTIONS

Read owner's manual completely before operating unit!

* Never exceed the maximum load capacity printed on the
top beam. The capacity includes the weight of hoist and
trolley.

» Checkfordamage and be sure all hardware istight before
each use.

* Never move or load the gantry unless both height
adjustment pins are fully inserted.

» Lockallwheels perpendicularto each other before loading.

» Stand clear of hanging loads.

» Never cantilever loads off of one end of the gantry.

* Never attempt to move gantry while loaded.

* Never attempt to adjust the gantry beam height while a
load is attached.

* When moving is not required, always lock the casters
perpendicularto each other.

» Keep clear of electrical wires and all electrical
equipment.

» Make sure all operator safety labels are in place and
legible.

RECEIVING INSTRUCTIONS

Every unitisthoroughly inspected prior to shipment.
However, itis possible that the unitmay incur damage during
transit. If damage is noticed when unloading, make a note of
it on the BILL OF LADING. Remove all packing and
strapping material, then inspect the unit again for damage.
IF DAMAGE IS EVIDENT, FILE A CLAIM WITH THE
CARRIER IMMEDIATELY!

WARRANTY

This product is warranted for 90 DAYS from date of
purchase to be free of manufacturing defects in material and

workmanship. The manufacturer's obligation hereunder

is

limited to repairing such products during the warranty
period, provided the product is sent prepaid back to the

factory.

This warranty does not cover normal wear of parts

ordamage resulting from any of the following: negligent use

or misuse of the product, use or application contrary to

installation instructions, or disassembly, repair or alteration
by any person prior to authorization from a factory

representative.

&

AHS

AHA

STEEL & ALUMINUM GANTRY CRANES
AHS & AHA SERIES

n-=->r0Z2r31mT

©



ASSEMBLY INSTRUCTIONS

Review this entire page before assembling the crane.
Consult the factory in the event there are any questions or problems at the time of assembly.

» The model FHS fixed-height steel gantry crane and the AHS and AHA adjustable-height steel and aluminum gantry
cranes are suitable for use indoors and outdoors for many industrial and commercial applications.

» Modifications or additions to the gantry crane without prior authorization from the manufacturer may void the
crane'swarranty.

» Assembly must be performed by suitably trained personnel with the appropriate tools and equipment. -

For assembly you will need the following:

1. Afork truck or overhead hoist or crane.

2. Basic fastener tightening hand tools such as a wrench set or a socket set,
an adjustable wrench, etc.

Installing the crane's top beam and leg assemblies together:

1. On adjustable-height models, (AHS and AHA), insert the upper frame sides
into the lower frame sides and secure both sides at the same level with the
height adjustment pins and clips. :

2. Lay outthe crane's top be_am and the two leg assemblies on a floor area e |/ Beam & Leg
that has ample clear working space. -/ Assemblies

3. Loosely attach the beam spur clamps and shims (shims are used on steel |
units only - 1/8" thick for 5"-8" I-beams, 3/16" thick for 10"-12" |I-beams, but A
none are used on 4" wide I-beams) to the top flanges on both leg assemblies W
using the 1/2" -13 structural bolts and nuts provided, as shown in the
illustration.

4. Slide the bottom flange of each end of the I-beam between the spur clamp

shims and the leg assemblies' top flange until the desired usable beam length

is attained.

Tighten all the spur clamp nuts to a torque of 50-52 foot-pounds.

Tip the gantry assembly upright using a fork truck or overhead crane.

7. Lifting at the center of the cross beam, slowly raise the assembled gantry
just high enough to install the casters.

o v

Installing the casters to each leg:

8. Hold an 8" caster under the bottom flange of each leg of the crane so that
the caster rig's holes match the holes in the leg's bottom flange.

9. Hang a caster from the bottom of each leg, installing one bolt and flat washer AHS & AHA Caster Assemblies
(from the bottom) in each caster rig at a corner nearer the center of the leg set. 2,000 - 6,000 Ib. Capacity
The 2,000 Ib - 4,000 Ib capacity gantries have 5/16" -18 UNC threaded holes, the
6,000 Ib. capacity has 1/2" -13 UNC threads, and the 8,000 Ib has drilled holes
for 1/2" bolts in the legs' bottom flanges. Only the 8,000 Ib. capacity steel gantry
uses nuts to mount the casters.

10. Insert the detent assembly under the caster rig, as shown, and install the
remaining three fasteners.

11. Tighten the bolts to standard US bolt (SAE Grade 2, zinc-plated)
specifications - 5/16" bolts = 9 Ib.-ft., 3/8" bolts = 16 Ib.-ft., and 1/2" bolts =
38 Ib.-ft.

12. Rotate the wheels so that all are parallel with each other, then lock them in
place with the detents.

13. Slowly lower the completed gantry crane so that it rests on the casters.

14. Once fully assembled, and before the first use, the gantry must be tested at
its full rated capacity per standard ANSI/ASME B30.2.

AHS - 8,000 Ib.

Capacity
@



HEIGHT ADJUSTMENT

For adjustable height models, the height of the top beam can be adjusted by the following ways:
Never attempt to adjust while loaded.

A)

1)
2)
3)
4)
5)

Using afork truck or an overhead crane

Lock all the casters in perpendicular position to one another.

A fork truck or an overhead crane is used to support the top beam.

Release the pin clips from the height adjustment pins on both sides of the frame, and pull out the pins.

The top beam can now be lowered or raised to the desired height with the help of the fork truck or overhead crane.
Insert the height adjustment pins and secure them with the pin clips.

Using theratchet cable puller (customer supplied)

Lock all the casters in perpendicular position to one another.

Attach one end (hook) of the ratchet cable puller to the bracket (position A) on the leg assembly, and the other end
to the end of the side frame (position B). Please refer to figure below: Figure 3

Tighten the cable to hold the side frame in place.

Release the pin clip from the height adjustment pin, and pull out the pin.

The top beam can now be lowered or raised to the desired height by extending the cable, or shortening the cable.
Insert the height adjustment pin and secure it with the pin clip.

Repeat the above procedures for the other side.

CAUTION: NEVER STAND BELOW THE TOP BEAM WHILE TRYING TO ADJUST THE HEIGHT !

Side Frame

Pin Clip

Height Adjustment Pin
g J T
Position A

Supplied Cable

hen rchasin
W by 'ng Leg Assembly B
Position B
Ratchet
Cable Puller Figure 3




INSPECTION INSTRUCTIONS

Per OSHA Regulations 1910.179 and American Society of Mechanical Engineers (A.S.M.E.) B30.17 "Overhead and
Gantry Cranes.", all gantry cranes should have an:

1910.279(j)(1)(i) Initial inspection - Prior to initial use all new and altered cranes shall be inspected to insure
compliance.

Besides that, for gantry cranes in regular service, there are two general classifications of inspections based upon the
intervals at which the inspection should be performed. The intervals in turn are dependent upon the nature of the critical
components of the crane and the degree of their exposure to wear, deterioration, or malfunction. The two general classifi-
cations are herein designated as "frequent” and "periodic" with respective intervals between inspections as defined below:

1910.179(j)(1)(ii)(a) Frequent inspection - Daily to monthly intervals.

1910.179(j)(1)(ii)(b) Periodic inspection - 1 to 12 month intervals.

1910.179(j)(2) Frequentinspection

The following items shall be inspected for defects at intervals as defined above or as specifically indicated, including
observation during operation for any defects which might appear between regular inspections. All deficiencies such as
listed shall be carefully examined and determination made as to whether they constitute a safety hazard:

» Allfunctional operating mechanisms for maladjustment interfering with proper operation. Daily.

» Hooks with deformation or cracks. Visual inspection daily; monthly inspection with a certification record which
includes the date of inspection, the signature of the person who performed the inspection and the serial number,
or other identifier, of the hook inspected.

» Hoist chains, including end connections, for excessive wear, twist, distorted links interfering with proper function,
or stretch beyond manufacturer's recommendations. Visual inspection daily; monthly inspection with a certification
record which includes the date of inspection, the signature of the person who performed the inspection and an
identifier of the chain which was inspected.

» Allfunctional operating mechanisms for excessive wear of components.

* Rope reeving for noncompliance with manufacturer's recommendation.

1910.179(j)(3) Periodic Inspection

Complete inspections of the crane shall be performed at intervals as generally defined above, depending upon its activity,
severity of service, and environment, or as specifically indicated below. These inspections shall include the requirements
of the frequent inspection stated above and in addition, the following items. All deficiencies such as listed shall be care-
fully examined and determination made as to whether they constitute a safety hazard:

» Deformed, cracked, or corroded members.

* Loose bolts or fasteners.

* Cracked or worn hoist.

» Worn, cracked or distorted parts such as pins, bearings, shafts, gears, rollers, locking and clamping devices.

» Load, wind, and other indicators over their full range, for any significant inaccuracies.

» Gasoline, diesel, electric, or other power plants for improper performance or noncompliance with applicable safety
requirements. (IF APPLICABLE)

» Excessive wear of chain drive sprockets and excessive chain stretch.

®



TESTING INSTRUCTIONS

OSHA also requires two classifications of testing to be performed [per OSHA Regulations 1910.179(k)].
These two testings are:

1910.179(k)(1) Operational tests

1910.179(k)(2) Rated load test

1910.179(k)(1) Operational Tests

()

(if)

1910.179(k)(2) Rated Load Test

Prior to initial use all new and altered cranes shall be tested to insure compliance with this section including the
following functions:

(&) Hoisting and lowering.

(b)  Trolley travel.

(c) Bridge travel.

(d) Limit switches, locking and safety devices.

The trip setting of hoist limit switches shall be determined by tests with an empty hook traveling in increasing
speeds up to the maximum speed. The actuating mechanism of the limit switch shall be located so that it will

trip the switch, under all conditions, in sufficient time to prevent contact of the hook or hook block with any
part of the trolley.

Test loads shall not be more than 125 percent of the rated load unless otherwise recommended by the manufacturer. The
test reports shall be placed on file where readily available to appointed personnel.

REFER TO OSHA'S STANDARD 1910.179 FOR COMPLETE INFORMATION ON
OVERHEAD & GANTRY CRANE DEFINITIONS, GENERAL REQUIREMENTS,
HOISTING EQUIPMENT, MAINTENANCE, ROPE INSPECTION,
HANDLING OF THE LOAD, AND
OTHER REQUIREMENTS.

For OSHA publications, including informational materials
on standards and regulations, please contact:

OSHA's Publications Office
200 Constitution Avenue, N.W., Room N3101
Washington, DC 20210
Ph.: (202)219-4667 Fax: (202)219-9266

ALSO REFER TO AMERICAN SOCIETY OF MECHANICAL ENGINEERS (A.S.M.E.)
B30.17 "OVERHEAD & GANTRY CRANES."

For copies of A.S.M.E. B30.17
please contact:

American Society of Mechanical Engineers
Order Department 1-800-THE-ASME




AHS SERIES STEEL GANTRY CRANES

4 B N
—9
10— .
1
s— p
\_ ;
AHS - 8,000 Ib.
Capacity
4 _ )
\
8 )
N 12/
o AHS - 2,000 - 6,000
= Ib. Capacity
PARTS IDENTIFICATION
AHS SERIES STEEL GANTRY CRANES
ITEM NO. DESCRIPTION ENGINEERNO. QTY.
1 Bolt, 1/2"-13 UNC x 2-1/2" long AlL 8
2 Beam Spur Clamp 28-145-002 8
3 Washer, Lock 1/2", plain A/L 8
4 Nut, 1/2"-13 A/L 24
5 Chain, 3/16" dia. x 16" long 08-145-011 2
6 Clip, Hitch Pin, # 8 A/L 2
7 Pin, 1" dia. x 5-3/4" overall (4-1/2" usable) 08-112-002 2
8 Bolt 5/16"-18 UNC x 3/4" long (2-4K) AlL 16
Bolt 1/2" - 16 UNC x 1" long (6K) AlL 16
Bolt, 1/2"-13 UNC x 1-1/2" long (8K) A/L 16
9 Nut, 1/2" - 13 UNC (8K) AlL 16
10 Wheel, Caster, 8" x 2" Phenolic with Lock (2-4K) 16-132-063 4
Wheel, Caster, 8" x 3" Phenolic with Lock (6-8K) 16-132-064 4
11 Washer, flat 5/16" (2-4K) A/L 16
Washer, flat 3/8" (6K) AlL 16
Washer, flat 1/2" (8K) A/L 16
12 Locking Mechanism, 4-Position (2-4K) 28-037-002 4
Locking Mechanism, 4-Position (6-8K) 28-037-003 4
13 Shim 1/8" thick (5"-8" beams) 28-113-013 8
Shim 3/16" thick (10"-12" beams) 28-113-012 8

O A/L Available Locally
6




AHA SERIES ALUMINUM GANTRY CRANES (2K CAPACITY)
p — )

PARTS IDENTIFICATION
AHA SERIES 2K CAPACITY ALUMINUM GANTRY CRANES

ITEM NO. DESCRIPTION ENGINEERNO. QTY.
1 Wheel, Caster, 8" x 2" Phenolic with Lock 16-132-063-B 4
2 Bolt, 3/8"-16 UNC x 1-1/4 Long A/L 16
3 Nut, 3/8"-16 UNC A/L 16
4 Washer, Flat, 3/8" A/L 16
5 Washer, Lock, 3/8" A/L 16
6 Pin, Retaining, 3/4" dia. x 7-3/8" long and clip 28-112-007
7 Pin, Retaining, 1/2" dia. x 3" long 28-1/2-005
8 Pin, Cotter, 1/8" A/L 10
9 Clamp, Beam 28-145-002 8
10 Bolt, 1/2"-13 UNC x 2-1/2" long, Grade 5 A/L 8
11 Nut, 1/2"-13 UNC, Grade 5 A/L 16
13 Washer, Lock, 1/2" A/L 8
14 Knob, Screw, 3/8"-16 (2K only) 189-50 2
15 Pin, Retaining, 3/4" dia. x 4-1/2" long AHA-RP4.5 8
16 Casting Caster Mount AHA-2-CAMT 4
17 Casting "Y" Yoke AHA-2-YOKE 2
18 Casting I-Beam Mount AHA-2-IBMT 2

A/L Available Locally Q
7




AHA SERIES ALUMINUM GANTRY CRANES (4K CAPACITY)

__—— 9/10,11,12,13

W 2 e

PARTS IDENTIFICATION
AHA SERIES 4K CAPACITY ALUMINUM GANTRY CRANES
ITEM NO. DESCRIPTION ENGINEER NO. QTY.
1 Wheel, Caster, 8" x 2" Phenolic with Lock 16-132-063-B 4
2 Bolt, 3/8"-16 UNC x 1-1/4 Long A/L 16
3 Nut, 3/8"-16 UNC A/L 16
4 Washer, Flat, 3/8" A/L 16
5 Washer, Lock, 3/8" A/L 16
6 Pin, Retaining, 3/4" dia. x 7-3/8" long and clip 28-112-007 2
7 Pin, Retaining, 1/2" dia. x 3" long 28-1/2-005 2
8 Pin, Cotter, 1/8" A/L 10
9 Clamp, Beam 28-145-002 8
10 Bolt, 1/2"-13 UNC x 2-1/2" long, Grade 5 AlL 8
11 Nut, 1/2"-13 UNC, Grade 5 A/L 8
12 Washer, Flat 1/2" AlL 16
13 Washer, Lock, 1/2" AlL 8

A/L Available Locally

®



WARNING LABEL IDENTIFICATION

MAKE SURE ALL WARNING LABELS ARE IN PLACE!

391

p e

*Product safety signs or labels should be periodically
inspected and cleaned by the product users as necessary
to maintain good legibility for safe viewing distance . . .
ANSI 535.4 (10.21)

Contact manufacturer for replacement labels if needed.

391

532
256

532

STATIC CAPACITY

LA CAPACIDAD
CONSTANTE

CAPACITE STATIQUE

Yeshl Manudactuning Corporaion
Prena [280) BE5T36S
aberi A RSt oo WA el c o

¥ = Hiea 3 LFANT)

*** STATIC CAPACITY" = *
** LA CAPACIDAD CONSTANTE *
* * CAPACITE STATIQUE * *

‘warsdil Man

k- L L]

*

udachwing Corporat]on + Angala, Indiens USA
Prorm |260] B85-T50E = selwsiFvestilcom » we ol com

256

AAWARNING

= Lol all whesls in perpandiciular
pation o one another balee
oacing

+Chack for damoge and e sure
all harchaans 15 1gh1 bados aach
e, Flarnosss Irom serice and
s 1 imimaadiata by iF racessary

# B

o

ar eicaed capaety peinted
Earm

+ Maver move of ad unlass bod
Fuzbght Qdjustman png ars fully
nzarisd

+ Maver cantlavar keads of o
o and

+ Abrys Incike waight of hoist
and ol when caloulating kad

+ U on ksl oonareie o aqui

SUr

toce

+ Etnnd claar of hanging ool
+ Mo chear of all v hazd

ok

nuchores espechlly alaatnon

Ouipment shan mowing gantrg
+ B orwnars mareal for inspaction
and s MU mmEne.

ds ADVERTENCIA

+ hizagqum odas las ruadas en la
POECIGN porpencicular ankes. de
cangar s uredad

+ Comprusta por dofos v
ABEUrane e fodn In femetana
eaid supta anles do oxda U,
Hhre onl serace §repans
MM Ente S o5 NeGEInN.

+unca wEneda b capasckdad
mpress oo a |.1J,;|

+ KUNCA MUea o corgu |a unidad
A no s que ambos passdoras
chr ajusie de Altum ssten

(==l

pletamonis nssroe

+ Runoa daje qua by canga
sobresaiga an un sk exineme

« Siempr nchuya o peso de s
gria ¥ la carmila ceando =
calzule la caga

& s on comanto o nesd o an
L WP R S hiakare

= Wanienga=a akysds oo
repTAmiEntas que cuslguen

+ Wanengaze alejads ce mdas b

obein

KOs an lo alio

saprraimanie aquipos aleainoos
GumRGD Be MRy B gnes
+= Ve ol marwal del propetans
par los requisdos de inspecdon
¥ prusbees.

A\ AVERTISSEMENT

+ Blonuor chagque mue en position
pepa ndoulaine & uns autra
avant do chargar

+ Conindbar toud dommags at
=aszumr quae foul ke makdnes

S

fbean SeTrd avant o hoou

wils=xhion. Fatirer du serdce ol
wparar imm adaleman o
P B 230

.

Amas prndder la capaniy

mprmse sur la posine.

+ b

MU S MR r Cal Chige

SaNS Que ke deu Qo bas
o musbament da hauler e
smant complidemant inssndos.

+ b

o ur

aumiaes cantleear ks changos
0 deen airdmiles,

+ Towpours nclurs ke poids da
avage of de chamage pow
calger a charge

+ LN ST SUT L GITIENT & Mevseal
ol T una surnce aquivalunis.

oy s doaries de oul cubl pendant

+ Eviier toukes los chainacbors
abprsdeza, surtowt éouica ment
aheaingue. pandan ke mowrsmant
i po e,

+dr b bt o ublsation pour ks
migdrabfs O inspachon al da
win i aabon.

'|'“$Il. 'cl'u'll."‘".-".l"lrb WN".'MI“\.'H

SRR TREG Y P

JD:--MnnWﬁn-l




Material Handling Problem Solvers

Scissor Lift Table

Pallet Server High Rise Lift

AV Time is money. 7

Increased productivity 7~
equals greater profitability,

cost minimization and worker

— compatibility. Ergonomic —

products will assist you

with your production and
safety goals.

Mobile Lift & Tilt
Work Stand

Drum Carrier/Rotator

Ground Lift Tilter

Copyright 2006 Vestil Manufacturing Corporation



